Potencias de 10 (C)

6,704+~ 1072

4,88 1072

3,267+ 1072

7,129 1072

2,565+ 1072

7,539+ 102

3,073+ 1072

1,623 1072

7,082 +1072

0,497 =~ 1072

Calcule los siguientes cocientes.

8,044+ 1072

6,909 + 102

7,466+ 1072

2,252 +1072

9,533+ 102

6,562+~ 1072

1,809 = 102

5,309 = 102

5,082 +1072

7,636 +1072
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Potencias de 10 (C) Respuestas

6,704 = 1072
670,4
4,88 +1072
488
3,267+ 1072
326,7
7,129 =102
712,9
2,565+ 1072
256,5
7,539+ 1072
753,9
3,073 +1072
307,3
1,623 =102
162,3
7,082+ 1072
708,2
0,497 = 1072
49,7

Calcule los siguientes cocientes.

8,044 = 102
804, 4
6,909 = 1072
690,9
7,466+ 1072
746,6
2,252+ 1072
225.2
9,533 1072
953,3
6,562 +1072
656,2
1,809~ 1072
180,9
5,309 + 102
530,9
5,082+ 1072
508,2
7,636+~ 1072
763,6
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